) RBILEAMES YLy 7EL
EXEHIGEIEE (S EE)

(B)SF4FE4B1HE)SSEIA31H

BN B (FH)

i EXEFHIRAG ) 84,693
| BRFHZHE(2) 85,352
B |mgraunsEEG)=1)—(2) A 659
i EXFEHNIRAGT(4) 631
g EETHHFHE(5) 0
| BERFEINIRETEE(6)=(4)—(5) 631
BEINZEZ(7)=(3)+(6) A 798

;ﬁ 5 RIURA ST (8) 0
Iy |45l HET (9) A 1739
X R FEE(10) = (8) —(9) 1,739
LEEHRFIEED=(T)+10) 940

E BT ARBUE BN E4E(12) 70,351
z [MHAREBESRIEE(13)=>01)+12) 71,291
Jijjy EASLEIEE(14) 0
% |EAEHEAZE(O5) 0
?E ZOMOBEILIELE(16) 0
D | ZDMDIELEIEITEE(17) 0
B | e Ea IR T 248(18) = (13) + (14) —(15) +(16) — (17) 71,391

HEBUEN BBS A5

FRAPNZETEE(ZITEE)

(B)SF4FE4H1HE)SSEIA31H

EhERE (FH)

i EXFEHRAG) 1,759,611
| BRFEHZHE(2) 1,776,988
B meEsneEmEEe) =0)—(2) A17377
i EXEHNIRAGT(4) 10,338
g EEFHNFHE(5) 19,406
N | BERFENIRZTEE(6)=(4)—(5) A 9068
BEINZEZ (7)=(3)+(6) A 26,445

E ERIIRA S (8) 14,448
Iy |$F5I3Z HET (9) A 14316
X |45RIIREEE(10) = (8) — (9) 30,604




- SHESREEHO1)=(7)+10) 4,158
# (AR E BN 88 (12) 540,477
g LEREHESINE EE(13)=01)+02) 544,636
i |EEAEERE(14) 0
x> |BEAXEHAZE(5) 0
g FRMDIEIIEERERZE(16) 0
o | ZDMDIELEETEE(17) 700
g | REASHEFINE EEE(18)=(13)4+(14)—(15)+(16)—(17) 543,936
45 I+ = 3
BEXBER(EETESE)
SH5E3FA31 BT
FEOD — ERON ]
(FH) (FH)
RENEE 616,676 B AE 568,320
ElE & E 2,876,136|ElE B & 1,223,289
(RER) EARB 1,986,012
ZDMDETEEE 850,308
ZTNMIBEILTEE 39 816| B EDEREET 1,791,609
T2 e D Eh
HEX& 79,958
EE#HMESEEIELE 945817
FRHDEBELE 131,493
RERE M EBINT =48 543,936
MEEDERSET 1,701,203
BEEDEREET 3492 812|BBR UM E E DERA aT 3,492,812




